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1-  1- The perpendicular distance of a point from y - axis is called _g_ru{ ol St uF -y KL o/ B
straight line AU (D) abscissa Lusa! (C) origin s (B) ordinate ¥ (A)
2- The tax charged on all the taxable income is called bl o bl Y 4 BT JgJﬁ'(Uf'ﬁ oot
direct tax Jg ey (B) sales tax ﬁ 4 (A)
excised duty égﬁ 7L (D) income tax Jg{l (€)
3-If y=3x, thenfor x=2 we have y=? y=2?7 2 x=2 S y=3x )13
6 (D) 0 (C) -3 (B) 2 (A
4- in the logarithm of a number the integral part is called -t cf:'ff,& Lty s qui' /’%’ Low Jr -4
decimal part .2 Uis . 341 (B) mantissa L& (A)
characteristic <G (D) realpart & (2 (C)
5- Zakat is deducted at a rate of ?‘g(}n “ C}JKC}}(J 355 .5
+455% (D) 2 45% (C) 44 35% (B) #25% (A)
6- Lowest form of 75: 95 is e PulTd 75:95 -6
17:15 (D) 19:15 (C) 16:19 (B) 15:17 (A)
7- When a bar graph is constructed, so that the area of each WA b’/b’/; Sl Z,/’u’!ﬁ"u}%/.,e -7
bar is proportional to the number of items in each group is called -4‘-..1:’11:( - vt Lowd Luf I8y
barchart g/t (D)  histogram 3¢ (C) ogive i (B) curve & (A)
8- Profit is earned when Ji et V'S Z -8
SP < CP w=dsjed < 4/zd (B) SP=CP  w=djed =724 (A
SP > CP w3 jed > 424 (D) noneofthese A Wt (C)
9- Zakat on an amount of Rs.1,00,000 is te U 35954 <2 1,00,000 -9
15000 (D) 2000 (C) 25000 (B) 2500 (A)
10- 37 is called sl 37 10
integer s« 5 (D) rational number s J}’ £ (C) radicand »x (B) radical . (A)
11- In a proportion a:b::c:d, 'b' and 'c' are called fur g[g’f ‘c' o' u.’fh,/l:?g,( a:buc:id N
extremes u~‘~’) (B) meéns g,db’; (A)
antecedents midé}"f (D) consequents .‘}fu’; ¥ (C)
12- The third term of a,=n+3 is e 8 F S a,=n+3 12
0 (D) 9 (C) 6 (B) 3 A
;‘ 13- The person or entity whose insurance is being done is called the _uj;":c,fﬂ &(g u(u"’zfﬁi d/gf/j 4 ‘f.’go; -13
i. lessee ¢! (D) drawer .3 (C) insured 334 (B) insurer w1 (A)
14- If A and B are two non-empty sets, then AU B =7 AUB=? 7 unardes nBalA ¥ _14
BNA (D) BUA (©) ANB (B ()
15- The middle values of data arranged in numerical order is called -4_811{ ol ow u"’; U ol g“}'u’( +15
geometric mean ki)~ (D) mean Lsl (C) median :b-s (B) mode nb (A)
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2. Write short answers to any iSIX questions:
io If 45 % of the sfudents in a school are girls. What
is percentage of the boys?

ii- Express -2— g 2 in its simplest form.
35
iii- If a:b=2:3, findthe ratio 6a:2b

iv- Find the value of x inthe proportion 20:50::8:x
v- Find CP when SP = Rs.851,

Loss=8%
vi- Find SP when CP = Rs.480,
Profit=3 %

vii- Find the selling price when MP = Rs.2760 and
Discount =5 %
viii- Rate of tea in Pakistan is Rs.2.1 per pound. Find the
rate per kilogram if 1 pound = 0.4536 kilogram
ix- Mr. Saleem invested Rs.9000 at 2 % per anum profit,
What is his profit amount at the end of the year.
3- Write short answers to any SIX questions:
i- Calculate Ushr on a wheat crop amounting to
Rs.3,50,000 produced by artificial resources.
ii- Calculate Zakat on gold amounting Rs.15,00,000.
jii- The price of acycle is Rs.4000. If 16 % sales taxis
charged, then calculate the amount of sales tax on 30
such cycles.
iv- Khalid works 6 day-week. Find his gross monthly
wage, if his rate of pay is Rs.200 per day.

v- If the price of an air conditioner is Rs.40,000, then work out

the amount of sales tax on it at the rate of 16 %.
vi- Simplify and express with positive indices:
22 a%) ' x (472b7)

vii- Evaluate (a%b%o%)é
3
25y7*
viii- Simplify -1/
20y /4
ix- Solve l,(,)_gié
log 6

4- Write short answers to any SIX questions:
i Find the 7 term of G.P. 2,8,32 ........

ii- Find G.M. between -2 and -8
iii- Find first two term of a = 3n-56

iv- Write A.M. beween x-1 and x+7
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v- If A={~2 1, 4}, then write a binary relation in A and WLt AT A={-2,1,4) S
write its Domain. A s SS
vi- If A={2,3,4} and B={1, 3}, then v B={1,3) o A={2,3,4 .1 _v
write AxB and BxA .2 BxA s AxB
vii- Represent the point on the graph F(-3, 7) by m IS R B i
viii- Arrange the data and write median 5, 3, 8, 6, 8, 10,9 ..’c{()b”:}lbxﬁfc.: a,«"]fs, 3,8,6,8,10,9 sy _viii
- 1f C° =g (F°-32), then convert 97 F®into C° LSS S CS 9TF In O =§ (F°-32) S -ix

Al aLszen A8LJw ) Sectionl (1 2

(a) A triangle has sides of lengths 3 cm, 4 cm and 6 cm. Al HEF 4257 3 U S Qe L [ () o5
Find the ratio of the lengths of the sides to one another. U LugU SEue Laks ~UHKEE B
gk

(b) Aman sold an almirah at a profit of 7% % had he sold i _J;;’,}{ & i 7% G LTl (L)

it for Rs.209, he would have lost 2 %. For how much b liadd 2 o f 6 ey &1 209
Sy s ch.fz;d,r’

the man purchased it ?

(a) Calculate Zakat on 10 tola gold and 40 tola silver. _éffrk”ﬁ: g 3:"/14 YsbJ7 40 »f b J7 10 (L) -6
If the rate of gold is Rs.40000 per tola and the rate J Ui b J7 d <2/ 40000 tr /i
of silver is Rs.5000 per tola. 5t 7 (54‘._:/ 5000 =d

©) simpiity 3y 14,08 « xoyti N Sy g xhyhigh @A (D

(a) Allied Bank gained Rs.8034 on its loan at 6 % LB ie oLy s ad 62400 2 (L) o7
compound markup in 2 years. What amount did ik LSy b Lo 41, 8034
it lend? SRy Py

(b) Find three AMs between 11 and 19 S b G gl £ 190 11 ()

(a) The total taxable amount of a person is Rs.430,000. ifhe =1/l s 1 430,000 duT 20t J'§ o7 i (L) -8
is given rebate Rs.3000 on the tax chargeable, then work #5457 PRI IRCY 4 &1, 3000 ¢ Jg b 6

out the amount he has to pay as an income tax @ 4.5 %. S 1l ngffc, z,/“ J (
(b) If U={7, 8,9, 10,11, 12, 13, 14} U={7,8,9 10,11, 12, 13,14} S (L)
A={7,10,13, 14} and A={7,10,13, 14}
B={7,8, 11, 12} I B={7,8,11,12}
thenverify (A N B)® = A°uU B® (ANB)Y =A°UBS Lt
(a) Draw the figure with the help of points on the /;ru_él// S C(3,5) 11 B(-6,-3) < A5, 2) b6 () -9
graph paper.  A(5, 2), B(=6,-3) and C(3, 5) &b J{ﬁcé_u' fu' s é/;lb'{
(b) Find the standard deviation of the values 2, 3, 6, 8, 11 _E e UIAG € 2,3,6,8,11 (L)
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1- 1- The co-ordinates of origin are
(1,0) (D) 0.1 ©

2- G.M. between 1 and 8 is
2V2 @

3- f3 iscalled

~2J2 ©

an irrational number 26 t7Z (B)
an integer wg (D)
4- The tax in addition to the price of the article is called
sales tax Jé)f (D) excise duty Jgfit{' (€)
5- The company undertaking the act of insurance is called
insurer 3 (B)
insurance policy JQLJ’/PI (D)
8- Loss is there when
SP » CP wisjed > 4724 (B)
SP < CP  wijed <ufei (D)
7- The lowest form of 75: 95 is
17:15 (D) 19:15 (C)
8- The middle values ofidata arranged in numerical order is called
geometric mean Lud.~ (D) median k> (C)
9- 0.13 in terms of fraction is
4 10% (D)

10- A machine installed by the bank to dispense cash

30 (C)

to customer is called an
card reader 4. 34 (D) scanner /f (C)
11-1f U={1,2, 3,4}, A={4}, then AP=7
{1,2,3,4} (D) {1} (©)

12- The tax charged on the owner of land,

house, flats or building is called

computer /rf (B)

gl e S 1A

(0,0) (B) 11 A
e b §ukn L 8 sl 1 -2

+242 (B) 2w
_c‘..w\/..( \/3 -3

a rational number mJ"t (A)

a complex number . (€)
S fed§ad 4

wx JF (B) income tax S ®
gL e Qe LS LS & -5

insured 581 (A)

insurance Lf.;}"jl (C)
) e by Ul _g

SP=CP wijed =siei (A)

SP=MP w=ijed =odtngts ()
e Pul TS 75:95 7

15:19 (B) 15:17 (A
«q-ékkfafdwuh”ufﬂfé/”‘oj B

mode ok (B) mean bl (A)
LS4 013 o

13 (B) 4 13% (A)

et 3 ¥ Y §0 e 10

ATM (bt (A)
pC=n 7 A={arcU={1,23 4 11

¢ B (1,2,3} (A

et VSl el 2 e ik ot A2

indirect tax u‘gyl/gl/./f (D) property tax Jg 34'{, (C) direct tax u’g wrylz (B) income tax ‘f?ﬁ (A)

13- Find the value of ag in 3,7, 11, .ccoooven
23 (D) 19 (C)
14~ On a crop produced on artificial resources
Ushr is deducted at the rate of
4 25% (D)
15- I1n 4°, 4 is called
radical »¥ (D)
13-(11)-121-53000

5% (C)

integer Méé )

exponent Vs (B)

tetfiedtf mgd 8,7, Haomn =13
20 (B) 3 (A

?-7—‘5(6/?&5/3}“/“4 S s 14

4 25% (B) £ 10% (A)

gLl e #-15
pase JU! (A)
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Write short answers to any SIX questions: (2x6=12)
i- Express 0.0§5 as percentage.
ii. A hockey team won 62 % of their matches and 26 %

of them were ended in a draw. What is the percentage

of the matches they lost.

-gi;;’.-.uz/"’éamr(s).gc.éf 2

Ui § 0065 i

2B e 62 U R L ASy L
—edb éw‘f ZJ(L, FJE' - 4la

i

-ii

iii- Find the ratio of 6 rupees each to 72 repees per dozen. -ér}".—,r’ s S d L1072 JFL s 6 5 -
. 2 1 201 .
iv- Simplify the ratio g = in simplest form. _’a?u: ‘Puvff..-,e g : 5 -V
bz |
v- Find SP, when ' B s et W
CP = Rs.9600, Profit=10% S10=0 « £19600 = 47t
vi- Find the marked price when B 2 e L
SP = Rs.2400, Discount =4 % Ha= oA« &2 2400= =S ped
vii- Find the CP, when Gatpaiad i
L1 ) 1 o L
SP = Rs.100, Profit = 335 % 24 33~2— =8« L0100 = 23 s
viii- Rate of tea in Pakistan is Rs.2.1 per pound. Find the (l/@{{} drs - k5L ‘}‘r” 2.4 Lo Kl A uL“/g -viii
rate per kilogram when 1 pound = Rs.0.4536 Kg rl/y{ &4 0.4536 = X3} LG e
ix- Mr. Saleem invested Rs.9000 at the rate of 2 % per anum Yy 2 e Uf ol 14 2 &35 9000 L(:" -ix

profit. What is his amount at the end of the year.
Write short answers to any SiX questions:
/
Simplif 25"
i Simplify —3,7
‘ 4 x%

(2x6=12)

ii- Write 636.5 x 1078 in'the decimal form.

iji- If log x = 0.1597, find x
log 36
log6

iv- _ nlve

v- The price of an air conditioner is Rs.40000, then work out
the amount of sales tax at the rate of 16 %.
vi- f gross pay of a persdn is Rs.45000, then calculate his net
take home salary after deduction of Rs.400 as income tax.
vii- Calculate Ushr on whieat crop amounting to
Rs.350000 produced by artificial resources.
Jiii- Calculate Zakat on gald amounting Rs.15,00,000.
ix- Khalid works 6 day-week. Find his gross monthly wage,
if his rate of pay is Rs.200 per day.

Write short answers to any SIX questions: (2x6=12)
S ) i n+1
i- Write the first three terms in 8y =
2n+5

ii- Write the A. M. between x - 1,x+7
iii- Find the 7" termof G.P. 2,8,32, ..o

iv- Write the next four terms 1,3,7,15, 31, e
(éJ,IJ;))

?Lfﬁ‘ l_{( (114 & LJV b
_zfégiauz/"?éamr(s)g'céf -3

%
£ S

&l B aen S 6365310 i
g 24§ x I logx=0.1597 S i
2941 log3§ -iv
) log 6
£ U1 T &0 40000 =4 SA L v
e B E Ky S 6
F o a00 g PG LTSN
L2 B F ULy e vten 45000 7
£++350000 GAS S 140 b el i
e Py
L 3§54y Ly Ladia 15,0000 Vil
e 200 c.,f/;“ct‘/rgc)) 6 S sl —iX

A N Y PR Y
_EE (el (6) 208/ 4
5 S L
‘dqﬂ/u:"%;J n = 2n+5 -
-:ér)”'bz: d’ugmé x-1,x+7 -
A EnT o 28,82 LGS

i Fed e I 1,3,7,15,31,

-V
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v- If X={0, 3,5} and Y = {2, 4, 8}, then write two binary S XxY ¥ Y={2,4,8 5 X={0,3, 5}/fl -V
ralations in XxY _ely, G »

vi- If A={2 3,4} and B={1,3}, thenfind Ax B o AxB Jx B={1,3) 4 A={2,3,4 1 i
and BxA -ZEek BxA

vii- Represent on graph H(5, 0) _ifw/ _;:f S/ HE,0) -vii

viii- If 00 = -f)- (F°-32), then convert 127F° L1278 §x C° = -9— (F°=32) S -viii
in C° (centigrade) Bt LS

ix- For the data 3,5,6,8,8,9, 10 find mode. JZEpk sl § 3,5,6,8,8,9, 1007 -ix

: (q;/:’ 4Lz g / 8 ZJw ) Sectionll (2

5. (a) 14 cows consume 63 Kg of hay in 18 days. How many -u‘dtfu” s 18 Lk (!/yb/ 6324 14 () 5
cows will eat 770 Kg of hay in 28 days at same rate? “d;u" lal/u’ fu/ Uk (!/‘/:g 770 U~ ¢ 28
(b) Distribute Rs.720 as profit amongst three people, A Z: ("‘ f g C’)} &2 720 SSEH o)
so that their shares are in the ratio 3:4:5 "y 345Ut ULy
6- (a) Work out the share of each, if the inherited property I §E e el &-127,50,000 LJ’U () -6
amounting to Rs.7,50,000 is left by a deceased, who ;wtpd’..f/- B u’ .,Cl O Utk 55 e oz LIS
also left a widow, two sons and one daughter. é e 2 J
, (b) Simplify and write your answer in scientific notation: .l (’: T % 2l 5/"4 (&)
g_ggiﬁpi | 2.61 x 4 x 10°
5 103 10
7-  (a) At what annual rate of profit would a sum of Rs.680 okt edrs 880 (i 1y B U2t U () T
will increase to Rs.850 in 3 years and 4 months. -J il x < 850 ool 4 dv 3/ l'\
(b) Ifthe AM. between 5 and b is 10, then find e 2B b I 100 Tk b5 () \
the value of b
8- (a) Ifthe total income of a person is Rs.7,00,000 with Ul sl st &30 7,00,000 A ﬁJ S .8
exempted amount of Rs.1,50,000. Find the tax GZ// J,w’ 45 9y o (,Q.,u 1,50,000 ¢
chargable @ 4.5 % b P f
(o) If U={4,6, 8,9 10} U={46 89 10} J (o)
A=1{4,6} A= {4, 6)
B={6, 8, 9} B={6, 8,9}
then verify De Morgan's Law (AU B)® = A°n BC «gﬁ"ﬂ Jui(&'p}ih $37 (AUB)° =A°N B¢
9- (a) Drawthe graphof y=x+7 -éfrdlf ¢ y=x+7 () .9
(b) Construct a cumulative frequency polygon (that is, Lk (4 1) ke / G §f 6oy L2 (L)
an ogive) for the given data. The table shows the Gt rl/ﬁ ) Wil Sus 60 L2 N-10 Ut Use
distribution of the weights (in kilograms) of 60 boys _4‘:,6f & Jf”r J
of ten years of age.
Weight (Kg)
# 31-36 37-39 40-42 43—-45 4654
r’/‘;KUJ)
Fre?;ency 8 10 18 12 12
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